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Topics to be covered:

Ch. 12: Partial Differentiation

12.1 Functions of Several Variables 12.1:4,5,8,12,13,14,20,24

12.2 Limits and Continuity 12.2: 2,6,8,10,12,14,18

12.3 Partial Derivatives 12.3: 4,5,6,11,12,16,17,21,24,28,31,36,39
12.4 Higher-Order Derivatives 12.4: 4,10,16

12.5 The Chain Rule 12.5: 4,8,16,18,29,30
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Question-01

(1) Sketch the graph of the surface e+ =1forceR.
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Question-02

26 Mart 2020 Persembe

Sketch the level curves and the graphs of the surfaces
(a) flz,y)=2r—y
(b) glx.y) = «* i

(c) hlz.y) = ?H't'hiu{f__;_l
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Question-03
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Question-04
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Determine fi(0,0) and fa(0,0) (if they exists) where
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Find all points on the ce z = g2 — 2ry — _-’.13 — 8r 4 4y where the tangent plane 1s (a
hnrizunln](ll] ll] 11 [l cdr—dy+2:=T.
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Question-06
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Find all the second order partial derivatives of the given function:

(a) z = ze¥ — ye©
(b) flz,y) =In(1 + cos(zxy))
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Question-07
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Sup 1 order ¢ al d Pl
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\ (1) =3, foy(0,1) =1, fi(0.1) = =1

| F(L0) = =1 £2(1,0) = _1 F(1.0) =2, fea(1,0) = =1, fiy(1.0) = L f(1,0) =3 )
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(b} Compute —'— at the point (s, ¢) = (1,1
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